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The process of determining the focation of the

- instrument siation by drawing resectors fromthe

Tocations of the known stalions is called
{a} radiation {b) intersection
{c) resection {d} traversing

The methods used for locating the plane table
slations are

t. radialion 2. traversing
3. inlerseclion 4. reseclion
The corecl answer is

{a}) 1and2 {b}) 3and4
{c} Zand 4 {d} tand3

The fix of & plane table from three known points

is good if

{a} the middie stationis the nearest

(b} themiddie station is father than the other two
slations

(c} either of the exireme slations is the neares!

{d) the middle stationis close tothe greal circular

Theinstrument whichis used in plane tabling for
oblaining horizontal and vertical distances directly
withoul resorling to chaining, is known as

(@} plane alidade

{b} telescopic alidade

e} clinometer

{d) tachometer

One of the Lehmann's rules of plane labling, is

{a) location of the instrument slation is always
distant rom each of the lhree rays rom the
known points in proportion [o their dislances

{6} when looking inthe direclion of each of the
given points, the instrument station will be
on tha right side of ane and left side of the
otherray

(¢} when the instrument stalion is oulside the
circumscribing circle its location is always
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Surveying and Geology

Plane Table Surveying

on the opposile side of the ray Lo the most
distant poinl as the inlersection of the olher
1w rays

{d) noneolthese

For oriantation of a plane lable with three points

A Band C, Bessel's diill is

{a) Align bihrough aand draw aray lowards ¢,
align a tbrough b anid draw a ray towards ¢,
finally align ¢ through the peint of intersection
ol the previously drawn rays

{b) Align cthrough & anid draw a ray lowards b,

align alhrough ¢ argEd dravr aray towards b,

finatly align bthroughi the point of intersection

of the praviously drawn rays

Align cthrough band draw aray lowards a,

align bihrough cand draw aray lawards a,

finally align a, through the point of intersection

ol the previously, drawn rays .

In the first two sleps any lwo ol tha points

may be used and a ray drawn towards lhe

third point, which is sighted through the point

of intarsection of previously drawn rays in

the finat slep

{c

-

d

—

1
Orientation of a plane lable by solving lwo point
ptoblemn is only adopled when

{a} Saving ol imeis a main factor

{b) betler accuracy is 2 main factor

(c} given poinis are inageessible

{d} noneofthese '

Maich Lisi-l (Statement) with List-ll (Situation)
and select the correct answer using the codes
given below the lists:
List-i
A. Accurate centeringin plane table surveying
is nacessary lor
B, Exac! orienlation is more important than
accurale centering for

Qs

€. The inlarsection method of plane table
surveying is particularly useful for

D. Plane lable survey is useful for

List-ll

Inaccessibie points

Open country with good inlervisibility

Large scale maps

Small scale maps

Hilly regions

hAaEBP

Codes:
A
(a) 3
(b) 4
{c} 5
(dy 3

— &b W b m
W RN - )
NN

4

Consider the following stalements regarding plané

table surveying

1, ltisless accurale than chain surveying

2. ltisnot necessary lo do accurate cenlering
ol plane lable for small scale surveys '

3. Compass rule may be made use of fof
adjusling Ihe plane able traverse

4, From the instrument slation, resectors aré
drawn to plot the posilion of abjects in thé

field
Which of ihese statements are correct?
{a) 1.2and4 (o) 2,3and 4
{c) 1.2ang3 (d) 1.3and 4

Q.10 Consider the [ollowing sleps:

1. Using Lehmann’s rute, an improved posilion
of slation poinl is abtained '

2. Procedureis repeated till the triangle of errof
is reduced (o a poinl

3. ‘Triangle of error’ is obrained

4. The plane table is levellac over the slation
point '

5. Three raseclion lings are drawn from m:eé
well-defined slation points

The correct sequence of the “Lchmann's

procedure” for solving the “tiree point problem” s

{a) 4,5.3,1,2 b) 1.2.4,3,5

{c} 54,231 ¢ 4.1,3,25

Q.11 Match List-l with List-ll and select the correct

answer using the codes given below the fists:
List-|

A. Tofix the cenire ling ol piers and abutments
of long bridges

B. For preparation of small-scale ap

C. Thelhree sides of the tiangles are measured
List-tl

1. Plane Table survey

2. Triangulalion survey

3. Tiilaleration survey
Codes:

A B C
@3 1 2
Y2 3 1
fcy2 t 3
B3 2 1

Q.12 For localing an inaccessible paint with the helb

of only a plane table, one shou!d use
(a) traversing {b} resection
{c) radialion (d} intersecuon

~ Q.13 Three poinl problem can be solved by

{a) Traclng paper melhod
{b) Bessel's melhod

(c) Lehman's mslhod
(d) AR of lhese

Q.14 Considar the lollowing statements perlaining o

plane lable survey

1. Two poinl problem is solved by mechanical
method

2. Three point problem is solved by Bessels
method

3. In wo point problem, auxilary stalion is

required
Which of these slatements isfare correct?
(@ 1and2 (b} 1and 3
(c) 2and 3 {d) 1,2and 3

Q.15 The method of arienting a plang table with two

inaccossible poinis is known as
(a} interseclion

(b) resection

{c} back sighting

{d} two-paint preblem



Q.16 Match List-| (Mathods) with List-1i (Procedures)

and select the correct answer using the codes

given below the lists:

List-]

Traversing

Reseclion

Intersection

Radiation

List-ll

1. Rays are drawn (0 locate lhe slation on
which the table is sel-up

2. Atleastworays are drawn Irom two difterent
stations lo the details to be located

3. Rays are drawn in the direclion of delails
\hrough the stalion point on which the 1able
is setup

4. Rays are drawn on the map by selting up
{he lable over each of the slalions lovards
the subscquent sfation

o>

Codes:

A B C D
a4 3 2 1
a2 1 a 3
)4 1 2 3
g2 3 4 1

(.17 The rejected position of plane-lable station from
three known position is unreliable if the station
lies ’

(a) with in (he greal triangle
(b} on circumference of circumscribing circle
(c) outside the great Uiangle
(d) in the cenire of Ihe circumscribing circle

Q.18 Which of the following methods of plane labling
is also known as “graphic lriangulation”
(2) Inersection (b} Resection
{c) Traversing (d) Radiation

Q.19 The quick and most accurale method 1o solve
lhree point problem in reseclion type of plane
labling is
{a) Mechanical Method
() Besel's Graphical Method
{c) t.ehmann's teial ang error method
(d) Tracing paper Method

O.2|0 The 'lix’ of a plane table with Ihras known points

is good il the instrument stalion lies

{a) wilh in lhe great triangle

{b) an the circumlerence of the circumscribing
circle

{c} oulside the grate circle

(d} oulside the great triangle but within the
greal circle

Q.21 In Plane Table surveying. the opsralion which
" must be carried out is
(@) Resaclion
(c) Inlersection

() Qrientation
{d) Radiation

0.22 The method of plane tabling commonly used for
' astablishing the insirument stalion is
(a) radialionmethod (b} interseclion method
(c) reseclionmelhod (d) Iraversing method

0.2:3 The accuracy with which the instrument slation
canbe eslablished in plane labla survey is known
as lhe
(a) strengthofaccuracy
{b) strength of solution
{c) slrengih of fix
{d) Noneof hesa

0.é4 Which method would you apply for localing
" inaccessible points?
(a) Method ol radiation
(b} Method of inlersection
(¢} Both(a)and (b}
(d) None ol these

Q.25 In a plane table surveying, three point probrcrﬁ ‘

' canncl be solved il he plane lable is
(a) oulside the great circle
(b) onihe circumference of the great circle
{c) withinthe great circle
{d} within lﬁe great lriangle

Q.26 Ollsets are measured with an accuracy of 1in
40. il the point on the paper from bolh sources of
error (Uue Lo angular and measurement emrors} is
not o exceed 0.05cmonascale of 1km=20m,
the maximum length of offset should be fimited
[1+]

(a) 14.14 {b) 200m
c} 28.28m {d) Nonecllhese

Q.27 The sensiliveness ol a level wbe decreases if
(a) radius of curvalure of its inner surlace is
increased
{b) 'diameter of the lube is increased
{c} lengih of the vapour bubble is increased
{d) boih viscosily and surface tension ara
increased

Q.28 The desired sensilivity of a bubble tube with 2 mm
divisions is 30”. The radius of the bubblo ube

should be
a) 13.75m {b} 1375m
(c) 344m (d) Nongofthese

Q.29 Origntation of a plane 1able by sclving two point
problemis anly adopled when
(8) saving of lime is a main factor
{b} better accuracy is amain factor
{c) given points are ingccessible
(d) Noneofthe above

Q.30 The operalion of resection involves the toflowing

sieps.

1. Rough crientation of the plane table

2. Thethreellines forma triangle of error

3. Drawing lines back through the Irec control
points

4. Selecl a point is the triangle of error such
that each ray is equally rolaled eilher
clockwise or anliclockwise

5. The poinls obtained by three rays is the
cortect location.

The correct sequenceis
{@ 1.3,2.4,5 {t) 1,2.3,4,5
{c} 1.4.3.2.5 {d} 1,3,2,4,5

Q.31 For high sensitivily of the bubble lube
{a) a liquld of low viscosity is used
{b} aliquid of low suriace lension is used
{c} the bubble space should beiong
{d) Aliofths abova

Q.32 Malch Lisi-1 and Lisl-il and select the correct
answear
List-
A. Pentagraph
B. Eidegraph
C. Tellurometer
D. Clinomeler
List-H
1. Anglemeasuringinsirument
2. Microwaveinshumeni
3. Planenlarging insirument
4, Planreproducing/reducing instrument

des:

A B C D
{a)} 3 4 1 2
b} 3 q 2 1
© 1 2 4 3
) 1 2 3 4

Q.33 Which of lollowing survey melthodology makes
use of instrument "Alidade™?
{a) Reconnaissancesurvey
{b) Contour survey
{c) Trigonomelry survey
{d} Planetable survey
EEnE



Plane Table Sirveying..

12, {d)

21,

22.

- (I} Radiation method is sultable only when the
area 10 be surveyed is small and all the
slations are visible and accessible from the
instrumant slation.

{1} Traversing is most suited when a narrow
strip of 1enrzin is to be surveyed 8.g. survay
of roads, railway elc.

(i)} Intersection method is preferred whan the
disiance belween stations is large or the
sialions are inaccessible or the ground is
undulaling.

{iv} Resection is usad when some important
details can be ploltad easily by choosing
any station other than the kiangulation
sltation.

{b)

* Throe must carried cutoperalions are:

'1.. Fixing the plane labie lo Iripod

2. -Setting. levetling, centering and orienlation
3. Observations

. Hence option {b} is correct.

{c)
Reseclion is the process of delermining the
plolted position af the station occupied by the

28.

32.

as.

‘1{e) 2.(c) 3.(8 4(b) S (@ 6 () 7.() B8(@ 9 (0 10. (a)
M.(0) 12 (d) 13 (d) 14.(c) 15. (d} 16. (c) 17.(b) 18.(a) 19.(c) 20.(b)
23.(0) 22.(c} 23.(c) 24.(b) 25 (b) 26. (c) 27.(d) 2B.(a) 29.(c) 30.(a)
31.(d) 32. (b) 33 (d)

plane table, by means of sighls laken towards
known points, locations of which have been
plotied.

i, {a)

(c)
. Error
L= SXrx ‘
0.05
= 4 — = .
20x waﬂ4 2828 m
L x 208265
Sensilivity = L&l
. AR
[2x10°* x 206265}
= = —————=21375m
ao
{b} . :
Paeniagraph and Eidograph are both used for
enlarging, reproducing and reducing the plans.
Telurometer is optical distance measurement
instrument.
{d)

Alidade is a sighting device for determining
directions or measuring angles in plane lable
survey. '
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